Name:

Hour: 

Stock Market: ________________ or ________________ invested or available for investment or trading.

	Mrs. Carr’s Car Company

1918

Stock Shares worth

$2/piece


	Ms. Porter buys 75 shares = $150 
	Mr. Magrane buys 50 shares = $100
	Mr. Graziano buys 25 shares = $50
	Mr. Shepard buys 100 shares = $200


This money is necessary to help Mrs. Carr’s Car Company thrive.

Years go by, and Mrs. Carr’s Car Company is more successful.  This makes my business worth more money, thus my shares are worth more money as well.

	Mrs. Carr’s Car Company

1925

Stock Shares worth

$5/piece


	Ms. Porter bought 75 shares worth $150 in 1918.  Now, in 1925, those shares are now worth $5 a piece.  
	Mr. Magrane bought 50 shares worth $100 in 1918. Now in 1925, those shares are now worth $5 a piece.
	Mr. Graziano bought 25 shares worth $50 in 1918.  Now in 1925, those shares are now worth $5 a piece.
	Mr. Shepard bought  100 shares worth $200 in 1918.  Now in 1925, those shares are now worth $5 a piece.


Do these simple math problems on your own.  The first one is done for you:

Ms. Porter 

Mr. Magrane

     Mr. Graziano
     Mr. Shepard

  75 shares

 50 shares

      25 shares

     100 shares

x  $5


x  $5


      x  $5

     x  $5
$375      worth


worth


      worth

      worth

To figure out how much money each person made, take how much money each share was worth and subtract how much money it initially cost in 1918.  

Ms. Porter

Mr. Magrane

     Mr. Graziano
      Mr. Shepard

  375 worth 



worth


worth


worth

-150 spent in 1918


spent


spent


spent

$225 profit



 

In 2-3 sentences, describe how the stock market could be profitable to people in your own words.  Make sure to include how the stock market works in your description.
Stock Market Crash of 1929

· Epidemic of “get rich quick fever”

· With everyone investing, prices rose to great heights.

· Wide margin of stocks being purchased on ________________

· Credit: people will purchase something expensive through the ________________.  

· Two ways to pay it off:

· In full

· Make payments

· Why would banks want to do this?  They can charge ________________ until what they owe and the ________________ is paid off.

· If I borrowed $100 at 10% interest how much would I owe if I paid it off after one year?  (10% of $100 =$10)

    12 months in a year

x$10 


     Interest (Money the bank earned for loaning to you.)

Add your interest to the money you initially borrowed:


     Interest

+ $100 


       How much you ended up paying in total. 

________________ ________________ has control over this; however, so many people were buying stocks on credit, the bank could not afford to keep up (lending more money than they actually had).

Banks needed money but couldn’t afford it, causing them to collect from people, who didn’t have money either.  

Business’ relied on this money to run, but since the banks or people didn’t have any money, business’ were not selling as many items, plus had no stock money coming in.

If business’ have no money coming in, what happens to the job market?  Draw an arrow showing whether jobs are increasing around the country or decreasing. ________________

Based on your above answer, what happens to the countries homeless rate?  Draw an arrow showing whether there are more or less homeless in our country. ________________
Using 2-3 sentences and your own words, describe how the stock market crashed.  

Using 2-3 sentences and your own words, describe how Mrs. Carr’s Car Company went under using my investors as examples.

Seabiscuit clip-Using 2-3 sentences respond to the following questions:

1. Describe what Mr. Howard’s (auto inventor) life was like prior to the stock market crash.  Be specific.

2. Describe what Red’s (the red-headed boy) life was like prior to the stock market crash.  Be specific.

3. How did Red’s life change?  How do you know?

4. Infer: How did Mr. Howard’s life change?

